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(3)/kEA L FEE(W/C) m = -18.3 + 28.1 X C/W
W/C = 28.1 = (30.0 + 18.3) X 100 = 58.0 % = [60% (_E[Rf#) ]
S W/C = 58.0 %
(4) K& (W) YTHOEFEICEDY W = 159  ke/m
(5)HpNE A FE(C) C =W + (W/C) X 100 = 159 = 58.0 X 100 = 274 kg/m
Cv= C =+ fgrg = 274 + 3.04 = 90 L/md
(6) %255 E (A) A = 4.5 % X 1000 = 45 L/md
(T)HEMHEME(G) BITHOFEFICLY HNEXME = 0.640 m/m EFER = 61.0 %
Gv = 0.640 X 1000 X 61.0 = 100 = 390 L/m
G = Gv X TR = 390 X 2.72 = 1061 kg/m
Gl = G X 50.0 % = 531 ke/m
G2 = G X 30.0 % = 318 ke/m
G3 =G X 20.0 % = 212 kg/m
(8) AL HE# = (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 684 = 316 L/m
S = Sv X EWEKE = 316 X 2.59 = 818 kg/m
SI = S X 80.0 % = 654 ke/m
S2 =S X 20.0 % = 164 kg/m
(9)MEM=E(s/a) s/a = Sv - (Gv+Sv) X 100 = 44.8 %
(10) BN FnAlE (Ad) Ad = C X ﬁ%ﬂufp = 274 X 0.9273 % = 2.54 kg/m
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